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1. Write the expression of the equilibrium constants for the following  reactions:
i) CO(g) + O2(g) 
ii) 2BrCl(g)  [image: image1.png]


Br2(g) + Cl2(g)  + heat

How the equilibrium position of this reaction affected by the following changes?
a) By increasing the concentration of CO(g)  in i) or Br2(g) in ii)
b) By increasing the pressure over those systems.
c)  Lowering temperature.
d) Increasing the temperature.
e) By lowering the concentration of O2 in reaction i)
1.1  At a given Temp, the  concentrations of the substances for reaction (ii) at equilibrium are 4.0 mol/L of BrCl, and       1.20 mol/L for both Br2 and Cl2. Calculate Keq.
2.  At a given temperature, the equilibrium constant for the following  reaction  is 1.23
2NO(g) + O2(g) ↔2NO2(g)  Given that the conc of NO2(g)   is 0.31 mol/L, and the conc of O2(g)  is 0.68 mol/L. What is the equilibrium conc of NO?
3. For which reaction will a change in pressure affect the equilibrium position? How will the position change?
H2(g) + F2(g)  ↔  2HF(g)

2H2O(g) ↔ 2H2(g) + O2(g

4. For the reaction    H2(g) + F2(g)  ↔  2HF(g)  the Keq = 1 x 1013  . Write the expression of the Keq and decide whether products or reactants will be more common at equilibrium. Explain.

5. According to  H2(g) + F2(g)  ↔  2HF(g) + heat          answer,
a. What changes in the conc of H2, F2 and HF favor de forward reaction, this is,  the production of hydrogen fluoride.
b. It will be appropiate to increase the temp over the syustem in order to increase the production of HF? Explain
c. It will be appropiate to increase the pressure over the system in order to increase the production of HF? Explain


